Update of signal reconstruction(® ) in Run2020 FXT Au-Au 5.2GeV
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_Differentce between different pt bins for -0.8<y<-0.3
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Differentce between different pt_pi cuts

*bin by bin counting
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Signal with different pt and y ranges
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Signal with different pt and y ranges
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spectra(Differentce between different pt pi cuts)
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_Boostrap
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_Boostrap
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dNdy

«default function:boltzmann
«dNdy

edata+integral:data_point*pt width(sum of data)+integral of fit

«dNdy error
escale method:

(error of the sum of data)*(integral of fit functionfrom 0 to 10)/(integration of fit funcition in measured pt range)

default:pt pi»0.15 1.5 2.0,2. 3 2.7

0.0130853+0. 00259391

0.013273+0. 00267327

0. 0120365+ 0. 00238569

0.0135701*0. 00270352

0.012671 0. 00254238

0.0118111F*0. 00245858

0.0127053+0. 00251972

0. 0127406+ 0. 00252239

0. 0138558+ 0. 00300601

cutmede2 cut00200 0.0127053+0. 00251972

0.0122062+0. 0024734

0.0127943F0. 0024274

0.0107348+0. 00197459

0. 0119056 +0. 00203043

0.0126835*0. 00251085

0.0132614(mean) 0. 00149689 (signa)

0. 00296195

0. 00922064+ 0. 00152639

0. 00977995+ 0. 00160076

0. 00862306+ 0. 00145157

0.00949519+0. 00160151

0. 00880037 * 0. 00153586

0. 00880698+ 0. 00151057

0. 00899831 + 0. 00151616

0. 00894340+ 0. 00185624

0.0100123F0. 00165103

0. 00899831 + 0. 00151616 (chiZtopo< 7TIFF
0.00916089+0. 00168837

cutmode? cut(0200

0. 00942638+ 0. 00177078

0. 00700677 0. 00136966

0. 00708285+ 0. 00131243

0. 00905093+ 0. 00152571 (16. 8%)

0.0158738(mean) * 0. 00284781 (signa)

0. 0013539

pt pi>0.15

default:pt pi>0.1 1.5 2.0,2.3 2.7

0.0121591+*0. 0020712

0.0132011*0. 00219297

0.0112297+0. 00191154

0.0126961 +0. 00216997

0.0124301 +0. 00208452

0.011571+0. 00201196

cutnode? cut01002 (JEFF) 0. 0119056 £ 0. 00203043

0.0119205+* 0. 00203161

0.0139586+ 0. 00242293

0.0120046+0. 0021356 (topo7: 0. 011905¢

0.0132329+0. 00213484

0.0129308+ 0. 00206256

0.0107348+0. 00197459

0.0119056 % 0. 00203043(17. 05%)

0.0126835+0. 00251085

0.0125127 {(mean) £ 0. 0013504 (sigma)

0.00713482+ 0. 00133526

0. 00278988

0.0074816+ 0. 00136286

0.0067589+0. 00125132

0.00745728+ 0. 00138321

0. 00683492+ 0. 00133352

0. 00685492+ 0. 00131123

cutnode2 cut01002(1#FE) 0. 00708285+ 0. 00131243

0.00708188+0. 00131241

0. 00890843+ 0. 00151016

0. 00739305+ 0. 0013539 (chiZ2topo<4)

0.00692872+ 0. 00150317

0.0072942+* 0. 00156874

0. 00700677+ 0. 00136966

0.00708285+0. 00131243 (18. 5%)

0. 00905093+ 0. 00152571

0.0122436 (mean) * 0. 00235034 (signa)

0. 000929776

pt_pi>0.1
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dndy
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dNdy error

«default function:boltzmann

default:pt pi>0. 15GeV/c 1.5, 2.0,2.3 2.7

default:pt pir0.1GeVic 1.5,2.0,2.3, 2.7

0. 000766R 6. 05%|1ifetime
0. 00029475 2.32%nihitfit>15, 20, 25
0. 00097435 7. 68%|pt_pi>»0.06,0.1,0,15
0. 0004362 3. 44%|prim pi>3, 5.7
2. B55E-05 0.23%|150,1,3
0. 0011723 9. 24%|chi2topo{3, 5
0. 00029405 2. 32%|chi?ndf<{Z2 2, 3, 4
0. 00149689 11. 80%|bol tzmann boostrap
0. 00296195 23. 35%|function style
0. 000436065 4. BZ2%

0. 00036451 4. 03% nihitfit>15, 20, 25
0. 00102208 11. 29%|pt_pi>0.06,0.1,0.15
0. 01% 1. 38%|prim pi>3,5,7

5. 3¥2E-05 0.59%(1>0,1.3
0. 00096137 10. 62%|chi2topo{3,5
0. 000187725 2. 07%|chi2ndf<2. 2, 3, 4
0. 00284781 31. 46% boltzmann boostrap
0. 0013539 14. 96%|function style
0. 0007332 6. 16%
0. 00064775 5. 44%|nihitfit>15, 20, 25
0. 00097435 8. 18%|pt_pi>»0.06,0.1,0.15
0. 00042955 3. 61%|prim pi2>3,5,7
0. 0000149 0.13%[1>1.3
0. 0010265 8. 62%|chi2topo<3, 4,5
0. 00066365 5. 57%|chi2ndf<z. 2, 3, 4
0. 0013504 11. 34%|bol tzmann boostrap
0. 00278988 23. 43%|function style
0. 00034919 4. 93%
0. 000199375 2. 81%|nihitfit>15, 20, 25
0. 00102208 14. 43%|pt_pi>0.06,0.1,0.15
0. 000123965 1. ¥o%|prim pi>3.5,7
9. TE-07 0. 01%|1>1, 3
0. 00091279 12. 89%|chi2topo{3,4,5
0. 00018274 2. 58%|chi2ndf<?. 2, 3, 4
0. 00235034 33. 18%|bol tzmann boostrap
0. 000929776 13. 13%|function style
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_meanpt

meanpt meanpt
= 18
" " 16— 75
d2N d?n e ; E 0-10% = 100
<pe=[pr- dpyr/ [ dpy (from fitting function, O<p;<10 GeV/c) . g DAL
Py Py, °E pt pi>0.15 e
. E = s pt_pi=0.1
14— c
«default function:boltzmann - b
13— E
he f [ f h - B
ethe Tunction of numerator use the same parameters as LE F
. . “F 12
function of denominator g i3
) = IR B R R I I B "
Kl 03 08 o7 0. ytf?‘i’s’: e TR S '-nl_ R '-ul. P '-ul. L '-nl. L Iyl_gr?,.l
default:pt pi>0.15 1.5,2.0,2.5,2.7 default:pt pi’0.1 1.5,2.0,2.3,2.7
1.11105 1.10995
1.11151 1.08917
1.1166 1.11189
1.10849 1.10367 1.5 D0, D03, DT
1.11654 1. 09561
1.13595 1.11118
Sy 1. 11627
1.11484 utnode? cut01002 (1 F)
1.11352 s = 1.10722 1.11533
1. 09656 1.09577 0. 936628
cutnode? cut00200 1.10473 1. 05859
1.12901 1. 06648
1.14451 1. 09528
1.14848 1.14848
1.10791 1.10791
1.11627 1.11627
1. 04158 +0. 000110632 1. 04147 *0. 000268025
0. 089821 0. 089618
default: folil deh B BB g
1. 67511 1. 73842
1- g;ggg 1. B669S 1.10791
= 1. 7734
1 61843 S 1. 10704
AR e 0. 928674
1. 59495 1. 73716 1. 05048
1. 62951 cutmode?_cut0l002 (1 FF)
1. B0O724 1. 76486 1. 76474
d D 1. 9478 1. 75297 1.7734
cutmode? cutQ0200 1. 73667
1. 41268 T 1. 78216
1. 40856 1.47999 L i
1. 64594 1. 64594
1. 76474 1. 76474
1.62181 1.62181
1. 04242+ 5. 81306e—05 1.0424+0. 00010121
0. 03418 0. 02237

pt_pi>0.15 pt_pi>0.1

yulou 1



_meanpt err

«default function:boltzmann

default:pt pi>0. 16Ge¥/c 1.5,2.0,2.3,2.7

15 R0 2B T

default:pt_pi»0. 16eV/c

0. 004055 0. 36%|1ifetine
0. 00261 0.23%|nibitfit>15, 20, 25
0. 020285 1. 82%|pt_pi»0.06,0.1,0.15
0. 00984 0. 88%|prim _pi>3,5, 7
0. 001375 0.12%]1>1, 3
0.01971 1. 77%|chi2topo<3, 5
0.01412 1. 26%]|chi2ndf<{Z2. 2, 3, 4
1. 04158+0. 000110632 9. 99E-07|bol tzmann boostrap
0. 089821 8. 05%|function style
0. 00696 0. 43%
0. 02665 1. 64%|nihitfit>15, 20, 25
0. 071465 4. 41%|pt_pix0. 06,0.1,0.15
0. 01597 0. 98%|prim_pi>3,5, 7
0. 092715 5. 72%]1>1, 5
0. 32599 20.10%|chi2topo<3, 5
0. 106625 fi. hT%|chi2ndf<{:. 2, 5, 4
1.04242+9. 81306e—05 5. 56E-07|bol tzmann boostrap
0. 03418 2.11%|function style
0. 00411 0. 37%|lifetine
0. 01039 0. 94%|nibhitfit>15, 20, 25
0. 020285 1. B3%|pt_pi»0.06,0.1,0.15
0. 00778BS 0. 70%|prim_pi>»3, 5,7
0. 00069 0.06%]1>1, 3
0. 00607 0. 55%|chi2topo<3,4,5
0. 020715 1. 87%|chi2ndf<Z. 2,3, 4
0. 000268025 0. 02%|bol tzmann boostrap
0. 089618 8. 09%|function style
0. 00873 0. 49%|1ifetine
0. 064285 3. 64%nihitfit>15, 20, 25
0. 071465 4. 09%|pt_pi:0.06,0.1,0.18
0. 03193 1.81%|pris_pi>3, 5,7
0.00012 0.01%[1>1, 3
0. 014035 0. B0%|chiZtopo<3,4,5
0.142375 2. 07%|chizZndf<2. 2,3, 4
0.00010121 0. 01%|bol tzmann hoostrap
0. 02237 1. 27%|function style

yulou

pt pi>0.15

pt _pi>0.1
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. Summary

calculate the systematic error of 0-10%

To do list

*Get systematicerror in 10-40%
eLoop new data

yulou
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spectra

a 10" ‘ ' ! ~ 107"
Y 10'2E % 3 102
2 107 : 2z’ 10
‘% 10“: . “% 154 i
g 107 3 g 10°8

—e— yield(-1.30<y<-0.80)x10
© . —— bwfit(-1.30<y=<-0.80)

o yield(-0.80<y<-0.30)=102
—— bw fit{-0.80<y<-0.30)

—e— yield(-1.30<y<-0.80)x10"
— bwfit(-1.30<y<-0.80)
yield(-0.80<y<-0.30)x102

107

| ——— bw fit{-0.80<y<-0.30) 1 0_7
10 = boltzmanntimespt fit E — boltzmanntimespt fit
n —— mitexptimespt fit . —— mtexptimespt fit
1 0_8 E ptgaussexptimespt fit O- 1 O % — 1 0‘8 ptgaussexptimespt fit 1 0—40 %
= pt3exptimespt fit = pt3exptimespt fit
-9 [ | . | s | -9 s l . | s |
107% 1 2 3 1% 1 2 3
P, (GeVic) P, (GeVic)

Fit function(with option”I”)
eboltzmann: [11*x*sqrt([2]*[2] +x*x)*exp(-sqrt([2]*[2] +x*x)/[0]) (x:pt ;para[2]:mass fixed)
smtexp: [11*x*exp(-sqrt(x**2+[2]**2)/[0]) (x:pt ;para[2]:mass fixed) (€ -exp(-==1),
-ptgaussexp: x*[1]*exp(-x/[0]) (x:pt ;para[2]:mass fixed) (€ ~exp(==h),
«pt3exp: x*[1]*exp(-pow(x,1.5)/[0]) (x:pt ;para[2]:mass fixed) (¢ -exp(- "’*3"”};
-bwexp: GetBGBWdNdptTimesPt  (para[0]:mass fixed;para[3]:n fixed 1) ’ [ " ey (f’:-'.“f;?‘i“ifi’) ey el

kin

(C - mexp(— D),

sptgaussexp and pt3exp are higher than others especially ptgaussexp

2Ny [
d°N 1 N I 3

yulou

dprdy ~ B.R. % N pr)Aly) = Erpe ¥ Spfny 2 30’"’1
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spectra

«default function:boltzmann

«dNdy

edata+integral:data_point*pt width(sum of data)+integral of fit

«dNdy error
escale method:

(error of the sum of data)*(integral of fit functionfrom 0 to 10)/(integration of fit funcition in measured pt range)

system error from fit function styles~25%

dndy_err_funcs

dndy_err_funcsty

0. 0126835+ 0. 00251085 0. 00286079 * 0. 000823171
0. 0126755+ 0. 00251085 0. 00238693+ 0. 000823171
0. 0126915+ 0. 00251085 0. 00307239+ 0. 000823171
0. 0127261 0. 00251085 0. 0028718+ 0. 000823171

0. 0127065 0. 00251085 0. 00287498+ 0. 000828171
0. 0186072+ 0. 00251085 0. 0040477+ 0. 000823171

0.0141621*0. 00251085 0. 00312603+ 0. 000823171

0. 0115077+ 0. 00192529 0. 0020458 F 0. 000374291

0. 0115238+ 0. 00192529 0. 00204764+ 0. 000374291
0. 0114668+ 0. 00192529 0. 00204233+ 0. 000374291
0. 0116005+ 0. 00251085 0. 00206458+ 0. 000374291
0. 0115595+ 0. 00251085 0. 00206745+ 0. 000374291
0. 0174824F 0. 00251085 0. 00272665+ 0. 000374291
0. 0128424 % 0. 00251085 0. 00220094+ 0. 000374291

yulou

dndy

0015

0.014

[RH K

ooz

oo

om

0-10%

boltzmann

-y

dndy

0.0035

0.003

00025

0.002

10_40%

boltzmann




meanpt

5
4%}
=4}
=
g -
=3

edefault function:boltzmann

-t
.

susing parameters from fit function in slides 2

-
La
o

dZN
dppdy

<pr>=[pr- i—:ydprf ] dpy (from fitting function, O<p<10 GeVj/c)

et
La

edenominator:
value: the integral from 0 to 10 of the fit function in slides 2
function style: 12
boltzmanntimespt: [11*x*sqrt([2]*[2]+x*x)*exp(-sqrt([2]*[2]+x*x)/[0])

1.25

1.15

boltzmann

1-1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1

° n u m e I"ato r: -1 -1 -1.9 -1.8 -7 0.6 y_cﬁlrﬁ
value: the integral from 0 to 10 of a new function(using the same parameters as function of denominator).
function style: mean _pt
ptboltzmanntimespt: [1]*x*x*sqrt([2]*[2] +x*x)*exp(-sqrt([21*[2] +x*x)/[0))  F
set function parameters the same as the fit function in slides 2. e 10_40%

11627 . 24433 1.15%—
-11533 - 241591 =
. 936628 . 990099 HE
. 05859 . 16051 135
1af- boltzmann
g_ PR ST N T S T T T T NS T N T T N T T T [N T T T

—

-1 09 -0.8 0.7 0.6 05
¥ cm

yulou 16



_Back up

*Cen:0-10%.
Efficiency

T
= 4.5F
O : w — 0.09F
Q - g 0.08F
35? """ - Efficiency_-1.30<y<-0.80 _; 0'07?
3 e T 06;— Efficiency._+0.80<y<-0.30
: 0.05;—
25 =3 = =
: 1 0.04F
2 3 — ] 0.03F
1.5F 002/
1;_ ! ! | | ; 0-0(? | |
- ——— 1 1.5 o, 2.5
= 1.5 2
0.5 . p.[GeVic]
0 e | | | J
-2 -15 -1 =05 0

yulou



_Back up

*Cen:10-40%.
Efficiency
© 5; ______
> 4.5t 0.8 I —
@) g 0.18 —
& & 0.7 0.161 .
3'55 _E 0.6 0_14;—Efficiancy_-1.30<y<-0.80 -
3 s o :
2.5E - 0.1 5
oF 47104 g8t -
150 1503 0.6 E
na 0.2 0.04;* B
- % 01 | ¥
ot 0 1 3
-2 -15 -1 -05 0 0.5 p,[GeV/c]
y

yulou

0.16F
0.14f
0.12:

0.1F
0.08f
0.0Bf
0.041

0.02

— I —
:_— Efficiency_-0.80<y<-0.30 E
\ | | |
1.5 2 25 3
pT[GeV/c]
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Signal and acceptance

*bin by bin counting

0-10%

| >1, IdI>6
chi2topo<5,
chi2ndf<2.2
chi2prim_pi>5
chi2prim_he>0

pt pi>0.15

0-40%

| >1, 1dI>1
chi2topo<5,
chi2ndf<4
chi2prim_pi>11
chi2prim_he>0

pt pi>0.15

@ \ T ‘ ' ]
= —— SE
B b 1t
e
500} %% AR =
400E %fﬁo + |
E i
300 }Qﬁ#* + -
200~ M r
. f
L H
100F , 4* .
;&Sﬁé | | | OJ-1 Q% |
0" %96 2.8 3 3.02
Mass( *Her) (GeV/c?)
f2) . i I
G500 :
8500 Mﬂ@ﬁﬁﬂﬁ
- —RB i
20001 cra? ]
‘;”%@‘*
#000
1 "
5001 tg’@ 1
#
1000} s B
!ﬁ
500/ & -
“w@
e 10‘-40% |
0% %06 208 3 3.02

Mass( *Her) (GeV/c?)

2 i \
c 3 ]
g i -® SE-scaled RB ]
o 1 00? *guasﬂinearﬂti
50} ]
Of |
—50} o= .0019{ * * ]
[ mean=29815 * ]
| s/Vs+B=70 b
—100~ yield = 526.09 | O\-1 Oo/q ]

297 298 299 3 3.01 3.02

Mass( *Her) (GeV/c?)

2 E \
§2505_ -+ SE-scaled RB_E
o 200;_ -‘-guasﬂinearﬁi;

-
(<)
o
T

!

0—}4 'ls 30.26
' d=0.0015f *

_501 L

[ mean =2.9920 1

_ L s/Vs+B=55 ]

L 005 Y= a2 | 1‘ O'4Q% ]
297 298 299 3 3.01 3.02

yu

Mass(°Her) (GeV/c?)

lou

p. (GeVic)

p. (GeV/c)




Signal with different pt and y ranges

"«Cen:0-10%.
«the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
«fit function:gaus+line

-1.3<y<-0.8

40:_ SE[ I(‘:IRB_f 60'_ ,‘ | | | I'SE-‘st:aIetl'lRB_" 30:_ | | | | | SE[ ItliRB_i .integral methOd(red |ine)
30 rea-oear Sty IR, e I e Ll *Fix fitmean range(guided by 0-40%)
20 oo | L[ § zo-s}ésis' V_ | H | § (mean-sigma,mean+sigma)
10 sonsanp-22l A 1 et W + I O dfeatss | M ] «Fix fitsigma range(guided by 0-40%)
0 0L \R\“\#\J f [ ;‘!H““J“u_ 0 + L

: diid Rt sl

il

) ! sigma-0.0002,sigma+0.0002
i THHHT (8ig | )

~10
F _ZOT mean = 2.9897 - —10 + + mean = 2.991
—20: 1 + 6=0.00168 R L 6=0.00168 1
_303 -1.30%y<0.80_1.0<p, <1.5 _ _ 40’_ 1.30y<080_15,<20 | _oal -1.30<y<-0.80_2.0<p, <2.5 ]|
L. \ . | ! \ . | I L \ ‘ | s \ . | L4 L. \ . | s \ . | I
297 298 2.99 3 3.01 3.0/ 297 298 299 3 3.01 3.0z 297 298 299 3 3.01 3.02
Mass( *Hen)(GeV/c?) Mass( *Her)(GeV/c?) Mass( *Her)(GeV/c?)
F I A e ——T—T—— T — T T T T T T T
407_ * -Scale | ; ; 30? B 3 -scale i M M M M
[ -7 Soeaienn] O ya-mo bt B pormion’ bin by bin counting(black line)
30 - yield = 70.15 ¢ guas+linear2 fif L yield =74.67 o guas+linear2 fif 20 | vield = 67.68 e guast+linear?2 fif . . . 0
I S+B=486.42 401 s+ =470, — [ S+B=28302 - ° -
ML 1 Slrasms + I i Fix fitmean range(guided by 0-40%)
[ s/(s+B=32 : ; | sis+B=3. ] L sigB:® : H H
']01 sign;oance= + | ++ *+ - 20¥ :/gnisﬁc:nc:%&% ] 10}8:9..?.3 g i (mean'SIQma,mean+Slgma)
of zH M | : H of of H e Fix fitsigma(guided by 0-40%)
-10¢ A W w o + {11 H f | f
E + : ‘mean = 2.990 + ] =3 mean = 2.9916 1 -10¢ + : méan = 2.9928 g
-201 5=0.00168 = r 5=0.00190 1 L 5=0.00168 :
305 -0.80<y<-0.30_1.6<p <1.9 E _40j -0.80<y<-0.30_1.9<p <23 5 _20; -0.80<y<-0.30_2.3<p <2.7 o]
KR S R T B [ e e 1w 1 e 1w AP T
297 298 299 3 3.01 3.02 297 298 299 3 3.01 302 297 298 299 3 3.01 3.02

Mass( °Her)(GeV/c?) Mass( *Hem)(GeV/c?) Mass( *Her)(GeV/c)
-0.8<y<-0.3

yulou 20



Signal with different pt and y ranges

"«Cen:10-40%.
«the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
«fit function:gaus+line

-1.3<y<-0.8

: T T T T Ty s T eintegral method(red line)
100:_ D = : o SE-s II deBE [ yidiih = ; *SLEl;ssielliI::aT:t: [ gz s0i01 fSE-sca'Ied RB'i . . .
80;;8:311;:35:2 T:ua +lin Zﬂi 100izie:22=(5;.2i:177 Tguasﬂineamfﬁ 20; zield=37.75 Tg:::::;::::zﬁ:j .FIX fltmean range(gL”ded by 0_40%)
ig? S+=B—53.91.46 } * ’ ; E 213;:;{;(;53 + E f z+=B1=011.ii.18 ++ f (mean_S|gma,mean+S|gma)
P oisiB=26 | . IS E 50 +BF 1. il 10 o Vs+B=3.2 — . . . .
2o it R T | \ 3 e ﬁm” o W H «Fix fitsigma range(guided by 0-40%)
of e o] o Nedid it ! i - i
BRI o T el ﬂmw ra (sigma-0.0002,sigma+0.0002)
_40; : ean j { _50:_ mean = 2.9922 _ = 0; =2, 5897 ;
—60F T =0.00208 1 a 6=0.00168 ] r 6=0.00195 ]
g0l -1:30<y<-0.80_08<p, <1 -100F 1.30y<-080_15<p,<26 | ool -1.30<y<-0.80_2.6<p <29 1
L L | L | | | | C ] = i . L . L ]
207 298 299 3 301 302 o967 208 265 3 30T 302 297 265 269 3 30T 302
Mass( *Hem)(GeV/c?) Mass( *Hem)(GeV/c?) Mass( *Her)(GeV/c?)
1200 1~ T T T T 43 T T T I I . . . .
1o o B IR e Simama g bin by bin counting(black line)
- - +-guastlinear fi [ yield=7333 + guas+linear2 fif [ yieldi=5473 + guastlinear2 fi . . .
BOE o vsar | zz + i T \ } ] *Fix fitmean range(guided by 0-40%)
o i | 3 mgw by % 10- ”_H + ' } \ : (mean-sigma,mean+sigma)
o L T -Fix fitsigma(guided by 0-40%)
20 [ + +- ‘ f Il + ; ;
s ] E * S l H ER v e T
_602* 5=0.00163 E —20? ?ia;;;::W é —20; l 038(;23330 24<p <28 —:
_sob -0.80<y<-0.30_16<p, <2.1 *; _30? -0.80<y<-0.30_2.1<p <2.4 7; L ]
297 298 299 3 301 302 287 266 209 3 801 3oz 2% 2% 299 3 301 302
Mass( *Her)(GeV/c?) Mass(*Her)(GeV/c) EleEs Emletio)

-0.8<y<-0.3
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spectra

*Cen:0-10%.
syield:integral method (fit function’s first parameter)

L ...... e Ky (SFAEN

i ® AutAu (This analysis) -
10_2 .II I ? O Pb+Pb (ALICE)

W Au+Au (STAR)
@® Au+Au (This analysis) -
O Pb+Pb (ALICE)

dN/dy (Jy|<0.5)
dN/dy (]y|<0.5)

--- Thermal : = --- Thermal _.
b otniins s i annnnns men s insnnnnnnitasnnnnns & nsnalinennnnnanssnnsnsnensnnns Coalescence (UrQMD) : ...... l ___________ Coalescence (UrQMD)

1 0—3 : 1 0_3

N
1074 bbb I L . N @ R e ;}7-?--?-i-i-?-??-?-?-i-i-?-??-?-?-ifi--?-??-?-? """" ——

TTT]

scaled (y:-0.8~-0.3) scaled (y:-0.7~-0.2)

yulou



spectra

*Cen:0-10%.
syield:integral method (fit function’s first parameter)

—
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[y ]
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< i o~ 10%e e e o 107 ] : T
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3
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